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GP Essay Outline - Globalization
It has been said that globalization is the answer to the problems of the developing world. Do you agree? 

Type of Question: Do you agree?

Thinking Aspect:

For this question, the requirement of the question is to answer the question if the problems of the developing countries’ problems can be solved by the features of globalization. In examining this, the approach is to consider if the features of globalization have the capacity to provide solutions for the problems faced by developing countries, and if the solutions may be inadequate to achieve this aim. It is also imperative to take note that there may be problems that globalization may cause which undermines the interest of the developing countries.

Introduction

Our world is undergoing complex changes in many aspects as a result of the evolution of globalization, which brings about extensive improvement in the development of many nations. This positive development has shaped many academics and governmental officials to believe that the rise of globalization may be the answer to many severe problems faced by the nations of the developing world. However, some who are less optimistic do not share such positive perception, claiming that the magnitudes of these problems, which are either of economic, social, political and medical nature, are far more too complex to be solved when the world becomes more integrated. In view of these two perceptions, I share the view of the latter, disagreeing to the statement that globalization can solve the problems of the developing nations.



Main Body

Point 1 - Opposing View

Modernists are quick to believe that globalization is the answer to the problems of the developing world as the economic benefits that developing countries can reap from trade and investment, along with other economic contributions to the prosperity of developing countries, will bring extensive funding to help them to solve the problems developing countries and better their lives.

Point 2 - Rebuttal - prove why the opposing view is wrong

However, many economists who favour ignore the detriments of globalization as they fail to understand that many developing countries often fail to reap the benefits  of globalization in this competitive global market, given their technological competency and availability of resources to compete.

Point 3 - Supporting View 1

It is not surprising for those who are skeptical about the belief that globalization can  be a solution as the problems affecting the developing nations are too complex and dimensional, requiring both domestic and international effort, where globalization alone is not the answer to a complex question.

Point 4 - Supporting View 2

There is also the problem of cultural subversion and clash of social and political ideological conflicts as globalization contributes to exchange of new modern ideas and traditional values in developing countries which are conflicting and geopolitical conflicts over vested political and economic interests that creates economic and political conflicts among developing nations and the modern world.

Point 5 - Supporting View 3 

Globalization also brings out extensive environmental problems as developing nations embark on social and economic interactions through globalization which widens the carbon print and other environmental damages, very often ignored and overlooked as developing countries embrace globalization.


Conclusion

We cannot deny that globalization will affect the world, and that includes the developing nations, but the assertion that it will be a solution to the problems of the developing nations will be subjected to controversy. The problems of the developing nations are just too complex and severe and the various problems that surface as a result of globalization. 



Website: www.generalpaper.com.sg
Contact us: 96890510
Email: jcgptutorsimonng@gmail.com

image1.png
°

GENERALPAPER.COM.SG
SENSIBLE MIND




image2.png
o C

A X) Achievers
v Club





 


Page | 


1


 


 


 


Website:


 


www.generalpaper.com.sg


 


Contact us:


 


96890510


 


Email:


 


jcgptutorsimonng@gmail.com


 


 


GP Essay Outline 


-


 


Globalization


 


It has been said that globalization is the answer to the problems of the developing 


world. Do you agree? 


 


 


Type of Question: Do you agree?


 


 


Thinking Aspect:


 


 


For this question, the requirement of the question is to answer the question if the problems 


of the developing countries’ problems can be solved by the features of globalization. In 


examining this, the approach is to consider if the features of globalizati


on have the 


capacity to provide solutions for the problems faced by developing countries, and if the 


solutions may be inadequate to achieve this aim. It is also imperative to take note that 


there may be problems that globalization may cause which undermine


s the interest of the 


developing countries.


 


 


Introduction


 


 


Our world is undergoing complex changes in many aspects as a result of the 


evolution of globalization, which brings about extensive improvement in the development 


of many nations. This positive dev


elopment has shaped many academics and 


governmental officials to believe that the rise of globalization may be the answer to many 


severe problems faced by the nations of the developing world. However, some who are 


less optimistic do not share such positive


 


perception, claiming that the magnitudes of 


these problems, which are either of economic, social, political and medical nature, are far 


more too complex to be solved when the world becomes more integrated. In view of these 


two perceptions, I share the vie


w of the latter, disagreeing to the statement that 


globalization can solve the problems of the developing nations.


 


 


 


 




  Page |  1       Website:   www.generalpaper.com.sg   Contact us:   96890510   Email:   jcgptutorsimonng@gmail.com     GP Essay Outline  -   Globalization   It has been said that globalization is the answer to the problems of the developing  world. Do you agree?      Type of Question: Do you agree?     Thinking Aspect:     For this question, the requirement of the question is to answer the question if the problems  of the developing countries’ problems can be solved by the features of globalization. In  examining this, the approach is to consider if the features of globalizati on have the  capacity to provide solutions for the problems faced by developing countries, and if the  solutions may be inadequate to achieve this aim. It is also imperative to take note that  there may be problems that globalization may cause which undermine s the interest of the  developing countries.     Introduction     Our world is undergoing complex changes in many aspects as a result of the  evolution of globalization, which brings about extensive improvement in the development  of many nations. This positive dev elopment has shaped many academics and  governmental officials to believe that the rise of globalization may be the answer to many  severe problems faced by the nations of the developing world. However, some who are  less optimistic do not share such positive   perception, claiming that the magnitudes of  these problems, which are either of economic, social, political and medical nature, are far  more too complex to be solved when the world becomes more integrated. In view of these  two perceptions, I share the vie w of the latter, disagreeing to the statement that  globalization can solve the problems of the developing nations.        

